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3.

SCs-1

T A,

India obtained observer status in the
Arctic Council. The Council has eight
members. Which one of the following
countries is nof a member of the
Arctic Council ?

(a) Russia
(b) U.SA.
() UK
(d) Sweden

Consider the following statements -

1. Mahatma Gandhi Pravasi
Suraksha Yojana (MGPSY) is a
pension and life insurance fund
scheme introduced by the
Ministry of External Affairs.

2. The scheme is for the Overseas
Indian workers having
Emigration Check Required
(ECR) passports. '

Which of the above statements is/are
true ?

(a) Both1and?2

(b) 1 only

() 2only

(d) None of the above

What is Ug99 ?

(@) A newly discovered Black hole
located in the constellation
Ophiuchus.

(b) Gene responsible for sickle-cell
anaemia.

(c) Wheat rust disease which hits
stem of wheat plant.

(d) The asteroid which had a close
pass with the Earth in September
2013.

(A-2)

L HISH Jidt ygeHt mafur
WHST (MGPSY) Uams w3
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4. Under the ‘Campaign Clean India’, an | 4,
initiative of Ministry of Tourism,
ONGC has adopted six
monuments/tourist destinations in
India. Which of the following is not
one amongst these ?

(a) Taj Mahal

(b) Ellora Caves

(¢) Elephanta Caves

(d) Char Minar

5. What is “Jiyo Parsi” ?

(a) An upcoming Bollywood film on 5.
the life and contribution of Tatas.

(b) Famous music album composed
by Parsi children.

(c) A scheme to increase . the
declining population of Parsis." .

(d) A scheme for old population of
Parsis for treatment of geriatric
ailments.

6. Consider the following statements : 6.
1. JENVAC is an indigenously

produced Japanese encephalitis
vaceine.

It is a live attenuated vaccine.
Japanese'' encephalitis is a
bacterial infection.

Which of r1f}:uze above mentioned

statements is/are correct ?

(@ land2 '

() 1,2and3

(¢) land3 f

(d) 1only

SCS-1 (A-3)

A9 mue H3gd &t ufos st
3z ‘UfdH we 93’ s
gasAlH. ¥ 93 fou B
AHga/Ag-AUe  E@hwt get 3§
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7. Match the following :

Name of Football Country/

Player National Team

A. Mario Suédrez 1. Germany
Mata

B. Gareth Bale 2. Spain

C. Robert 3. Wales
Lewandowski

D. Marco Reus 4. Poland

Choose the correct code :

ABCD

@ 1 2 3 4

b 2 3 4 1

ey 8u'g e 1

@y 4371 2

8. Which of the following statements are
correct regarding the entitlements
under the Janani Shishu Suraksha

Karyakaram (JSSK) of Ministry of

Health and Family Welfare,

Government of India ?

1. Free and zero expense delivery of
pregnant women  excluding
Caesarean section.

Free drugs and consumables.
Essential diagnostics at nominal
user charges.

4. Free and zero expense treatment
of sick newborn till 30 days after
birth.

Choose the correct combination :

(a) 1,2and3

(b) 2and4

(¢) land4

(d 1,2,3and4

SCS-1

(A-4)

(#) I 2
). 2 3
¢ 8 2
@ 4 3
Js fou qus’ fed fags ags, 93
Faae @ fAgz w2 ufdea ot
H3a® € #ad1 fag  waaw
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A% grggedt wigst = HEs, fast
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(a) 1,2 M3 3

(b) 23 4

(© 1734

d 1,2,3 M3 4
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10.

11.

SCS-1

Cyber Coalition 2013 refers to

(a) Cyber security exercise conducted

by NATO

(b) An organization for cyber security
formed by China

(c) A coalition formed by India and
South East Asian countries to
secure cyberspace

(d) Cyber security exercise conducted

by Russia

Consider the following statements :

1. Nkosazana Dlamini-Zuma
became the first woman to take
over office as the Chairperson of
the African Union Commission
(AUC).

2. The African Union headquarters
are located at Nairobi.

3. All the African nations
members of the African Union.

are

Which of the above statements is/are
correct ?

(a) Only1
(b) 2and3
(¢) land3
(d 1,2and3

Magnus Carlsen, who won the recent
World Chess Championship, hails
from which of the following countries ?

(a) Finland
(b) Sweden
(c) Russia

(d) Norway

11,

(A-5)

Aeeg I8tHs 2013 Hag ot &

(a) & 2B iz fapur fog wifewg
Haft™ nifgny

®) s ¥ wfess woftmr =
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13.

SCS-1

What is the ‘Know India Programme’
of the Government of India ?

(a) It is an orientation programme
designed by the Ministry of
Finance to familiarise FIIs with
rules of investment in India.

(b) It is a tourism programme
designed by the Ministry of
Tourism under ‘Incredible India’
for promoting tourist arrivals in
the country.

(c) It is an orientation programme
designed by the Ministry of
Overseas Indian Affairs for
diaspora
awareness on different facets of
life in India.

youth to promote

(d) It is an orientation: préogramme
designed by the Ministry of Art
and Culture “to

aspects of India and its States.

Which among the following sites has
selected wunder the project
“Destination Flyways” by United
Nations World Tourism Organization
(UNWTO) for development of
sustainable tourism ?

been

(a) Sunderbans Delta
(b) Chilika Lagoon
(¢) Western Ghats
(d) Ashtamudi Lake

promote
awareness regarding the cultural!

12.

13.

(A-6)

9793 Hoad T FIS AE YEEH

#ft I

@ &3 Hagm B A
neétw § 393 fou fosm wedt
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Consider the following statements :

1. The Lusofonia Games is a
multinational multi-sport event
organized by the Association of
Portuguese Speaking Olympic
Committees (ACOLOP).

2. ACOLOP is approved by the 10C
(International Olympic
Committee).

3. Bengaluru, India hosted the 2014
Lusofonia games.

Which of the above statements is not
correct 7

(a) Onlyl
(b) Only2
(¢) Only3
(d) None of the above

Chemical agent Sarin was used in the
chemical attack carried out in Syria in
2013. Which type of chemical agent is
Sarin ?

(a) Blister Agent

(b) Choking Agent

(¢) Blood Agent

(d) Nerve Agent

In Cauvery river water dispute, the
determination of share of the waters of
river Cauvery is regarding which of
the following State(s)/Union
Territory ?

1. Kerala
2. Puducherry
3. Karnataka

4. Andhra Pradesh

Which of the following is correct ?
(a) land3

(b) 1,2and3

(¢) 1,3and4

(d 2,3and4’

(A-T7)

9. ACOLOP (wi3g-gmedt gsi=

T 10C 2B HEIT YU T |
3. 2014 BRI CEMCEEREE]

e
@ wfswHes (E797) B

G- m—%—g{%ﬁz

(¢) TI3 THS
@ 392 (33) B

Iz &% fagzr At 9 2
(a) 1 M3 3
(b) 1,2 ¥3 3
() 1,3 M3 4
@ 2,3M3 4
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17. In which of the following countries is | 7,

“Kalahari desert” located ?

1. Namibia

2. Botswana

3. South Africa

Choose the correct answer from the

following :

(a) land3

(b) 2and3

(¢) Only3

(d 1,2and3 18.

18. Consider the following statements
regarding Census 2011 :

1. The mascot of Census 2011 was a
female enumerator.

2. Bihar is the most densely
populated State gin Igdla with
1102 persons per sqs km. Fe

3. 2001 — 2011 is the first decadén|
[with exception of 1911 — 192 d
which has actually added lesser
population compared to the
previous decade.

4. Dadra and Nagar Haveli has the
lowest sex ratio among all the
States/UTs of India.

5. The logo of Census 2011
comprises of figures of Adult
Female, Female Child, Adult
Male and Male Child.

Which of the above statements are

correct ?

(a) 2,3and4

(b) 1,3and5

(¢0 1,2,3andb

d 1,2,3,4and5

SCS-1 (A-8)
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19.

20.

21.

5CS-1

Match the following :
Railway Zone Headquarters
A. South Central 1. Kolkata
B. South Eastern 2. Secunderabad
C. South Western 3. Bilaspur
D. South East 4, Hubli
Central
Choose the correct code :

A B C D
(a) 2 i 4 3
(b)
(c)
(d)

= b
W W =

1
1
1

N &= N

Gulf of Bothnia is located between
which of the following countries ?

1. Finland

2. Norway
3. Sweden
4. Estonia

Choose the correct answer from the
following :

(a) land?2
(b) 2and 3
(¢ land3
(d land4

Which one of the following pairs of
countries fought wars over a region
called Ogaden ?

(a) Eritrea and Sudan
(b) Ethiopia and Somalia
(¢) Kenya and Somalia
(d) Ethiopia and Sudan

(A -

19.

20.

21.

9)

BT 977 HY T53T
(' 5a5T)
A. T¥S Judt 1. IS
B. S4E yadt 2. frdegw=
C. Tys yaHt 3. fa@mug
D. SYS-yIdt- 4. gusEt
dJedt
At a3 98
A B CD
@ 2 1°4 '3
) 8 4 12
) g T8
(h 4 3 1 2

Js feu ont fegd fags oF fevaa
sg3y et gz J 2
1.y fes83

. femedr

J& fou fed wdft €739 9 -
(a) 1MI 2

(b) 2 M3 3

(0 1M3 3

d 1M34

J5 fou o &t 9t fed faoft
gt <8 Garss ¥39 T BT
S It T 2

(a) Efgedhr w3 Aes

(b) a3 A

(c) BT w2 AHEhr

(d) EEdhT 3 FEs
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22.

SCS-1

Match List I (Valley) with List II | 22,
(State) and select the correct answer
using the codes given below the lists :
List I List IT
(Valley) (State)
A. Johar Valley 1. Uttarakhand
B. Dzukou Valley 2. Himachal
Pradesh
C. Nubra Valley 3. Jammu
and Kashmir
D. Parvati Valley 4. Nagaland
Codes:
A B €D
() 2. L@ 1
05" RNy L -2
() 1 B 3 2
D3 4. 2 1
On which river and betwéen' which
two places is the National Waterway . 23.
No. 2 situated ?
(a) Brahmaputra, Sadiya — Dhubri
(b) Ganga, Haldia — Allahabad
(¢) West Coast Canal,
Kottapuram — Kollam
(d) Godavari, Nasik — Rajahmundry
Equator does not pass through which 24.
of the following countries ?
1. Columbia
2. Brazil
3. Democratic Republic of Congo
4. Bolivia
5. Angola
Choose the correct answer from the
following :
(@) land3
(b) 2and4
(¢) 3and4
(d 4and5
(A-10)

fed wdft €39 ¥
BrE I fame I
(uh) @)
A #HT9 W 1. €35aniz
B. Sda Wt 2. fov=s
yer
C. THIT Wt 3. A4 W3

cp
2
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25.

26.

27.

28.

- 29.

 SCS-1

-

In which of the following States is
Gugamal National Park located ?

(a) Karnataka

(b) Andhra Pradesh
(¢) Maharashtra
(d) Odisha

In demography, the biological capacity
for reproduction is called

(a) Fertility
(b) Birth Rate
(¢) Vitality
(d) Fecundity

Which of the following separates the
Asiatic Turkey from the European
Turkey ?

(a) Bering Strait

(b) Bosporus Strait
(¢) Malacca Strait

(d) Strait of Gibraltar

The 98t Constitutional Amendment
Act, 2012, has added a new article
371-J in the Constitution. It relates to
creating special provisions regarding
which of the following regions ?

(a) Telangana — Rayalaseema
(b) Karnataka — Hyderabad

(¢) Vidarbha — Marathwada

(d) Rayalaseema — Seemandhra

Which of the following States joined
the Indian Union after the conduct of
special opinion poll in 1975 ?

(a) Manipur

(b) Meghalaya

(¢) Goa

(d) Sikkim

25. I3 fo¥ g fed Jarws gHedt

26.

27.

28.

(A-11)

g (Bfowrs) fad wfgz 3 2
(a) ddocd

(b) WUIT YeH

(¢) HJITHII

@ B
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(a) #a Wad! (SafefEdt)

(b) H&H €9

0 WtEsT (Sfefsd)

@ Gur wadt (fedfsd)

Js fofipwt f=3 fooz bt
ot w3 gt It § = F9E
J?

(a) Bfdar veas (FSd<)

(b) THUSH yeas (W33<)

©) WS yeHz (W)
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g8t Hfeusa Fius wifufe@H 2012
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(a) 3BIrsT — TfesHHT
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5 fog aat fed foozr g, gt
Huas (s gats) feg 1975
feg 3% foiw H3-3< Tf THS
Jfemr H 2

(a) HBNUT

(b) Hurfen

(c) I

(d) fAdH
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80. Consider the following statements

31.

SCS-1

regarding lapsing of bills in the
Parliament :

1. A Bill pending in the Parliament
lapses by reason of the
prorogation of the Houses.

2. A Bill pending in the Rajya
Sabha but not passed by Lok
Sabha lapses when Lok Sabha
dissolves.

Which of the above statements is/are
correct ?

(a) Onmnlyl
(b) Only 2
(¢) Both 1 and 2

(d) Neither 1 nor 2

Which of the following places do(es)i]

not fall under the territorial
establishment jurisdiction of Bombay
High Court ? :

1. Daman and Diu
2. Dadra and Nagar Haveli
3. Goa

4, Lakshadweep

Choose the correct option from the
following :

(a) Onmlyl
(b) 1land2
(¢) Only4
(d) 3and 4

(A-12)

You tube: https://youtube.com/@siddhipunjab
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32. Consider the following statements

about the Attorney General of India :
1. He is appointed by the President

of India.

2. He must have the same
qualifications as are required for
a judge of the High Court.

3. He has the right to speak in
either House of Parliament.

4, He can be removed by following
the process of impeachment.

5. He has the right of audience in
all courts in the territory of India.

Which of the above
statements are correct ?

(a) 1,2and4
(b) 2,3and5
(¢) 1,2,3and5
(d 1,3and5

mentioned

Consider the following statements :

1. The ‘veto’ power of the President
is limited because if after
reconsideration, the Parliament
passes the same bill again and
sends it back to the President,
then, the President has to give
assent to that bill.

2. There is no mention in the
Constitution about the time limit
within which the President must
send the bill back for
reconsideration.

Which of the above statements is/are
correct ?

(a) Only1

(b) Only2

(c) Both1and2
(d) Neither 1 nor 2

32. 93 € HJI' fom wifgardt (wieraat

33.

(A-13)

"76983) wHedl I35 few zEst §
fegrg .
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eIt =8 it 7t I
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T HIE J |

5. Tew & =n It Wit wEEIT
feg 7S 77 = wifuag I |
Sudas fouz wgs fed fauz wdt
I ?

(@) 1,2 M3 4

(b) w23 M3 5

(@ 1,2,3 M3 5

@ 1,38 M3 5

‘fl'&'ﬂ%‘traawsﬁ?é‘

1. IHeS @ o=

nazf’r‘%ﬁ'e";ﬂﬁﬁ%rﬁ@'l%r

)

TUH SHer J, 3 IHeoudt §
ﬁs%maﬂﬂaﬁﬁl

(© 1M3 2 e
@ 1@21‘?&?&-‘&%
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34.

Which of the following subjects are a

part of ‘State List’ as specified in the

Seventh Schedule of the Constitution

of India ?

1. Markets and fairs

2. Public health and sanitation;
hospitals and dispensaries

3. Cultivation, manufacture, and
sale for export, of opium

4, Insurance

5. Relief of the disabled and
unemployable

Choose the correct option from the

following :

(a) 1,2and3

(b) 2,3and5

(¢) 3,4and b

(d 1,2and5

35. Which of the following  is/are 35

mentioned in the Directive Prineiples .

of State Policy ?

1. Securing a social order for the
promotion of welfare of the
people.

2. Organization of Agriculture and
Animal Husbandry.

3. Provision of giving opportunities
and facilities to the children for
their development in a healthy
manner.

4, Provision of safeguarding public
property.

Choose the correct answer from the

following :

(a8) 2and3

(b) 1,3and4

(¢) 1,2and 3

(@ 1,2,3and4

SCs-1 (A-14)

34. J5 foy fefmi fed fagz Iadft
Afers &€ A3 wiggdl (HS16)

ad T3 ?

&g =aq, ‘g g’ S8 AHs

JI5 ?

1. S99 (HJe) 3 is

2. 75 fAgg w3 AleHs, TAUSS
w3 faatnd

3. wigtH =t uft, feaue w3
faaus =t feadt

4. HiHT

5. wiar W3 a9y ©
HafEsT |

Iz fou feg wdft €739 58 -

(a) 1,2 %3 3

b) 2,3M3 5

() 3,4M3 5

@d 1,2M35

J& fouz fod fagd a=-diFt

1. B3 & szrdt @ AHdEs Bt
AHTTHE @H g878e |

2. udlgdft w3 ug-uwse &
feeme |

8. &w&ﬁmww%
WeHd W3 ngw
feus |

4. B Ayt <t It wEt yET |

35 oy fed mft €39 9 .

(a) 2 M3 3

(b) 1,3 M3 4

(¢ 1,273 3

(d 1,2,3 M3 4

You tube: https://youtube.com/@siddhipunjab
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36.

37.

When the office of the Chief Justice of

India is vacant or when the Chief

Justice is, by reason of absence or

otherwise, unable to perform the

duties of his office, the duties of the

office are performed by an acting Chief

Justice. Who appoints the acting Chief

Justice ?

(a) President of India

(b) Seniormost Judge of the Supreme
Court (Ex-officio)

(¢) Prime Minister of India

(d) Vice-President of India

Which of the following languages is |



39. Which of the following comprises the | 39,
electoral college of the Vice-President
of India ?
1. Members of Lok Sabha
2. Members of Rajya Sabha
3. Members of State Legislative
Assemblies
4. Members of State Legislative
Councils
Choose the correct answer from the
following :
(a) land2
(b) Only2
(¢0 1,2and3
(d 1,2,3and4
40.
40. India is divided into how many Postal
Index Number (PIN) regions ?
(a) Six Geographical _and"~ one
reserved for Army Postal Service
(b) Seven Geographical and two'l
reserved for Army Postal Service ' 1
(¢) Eight Geographical and one
reserved for Army Postal Service
(d) Ten Geographical and two
reserved for Army Postal Service
41. Natal, Recife and Fortaleza are
(a) Names of experimental subjects s
in recently conducted
experiments in Nanotechnology
(b) Names of drugs associated with
the treatment of Psychological
disorders
(¢) Names of famous tourist places in
South Africa
(d) Names of host cities of 2014 FIFA
World Cup in Brazil
SCS-1 (A-16)

Js fou fe8 d sw3 @
Su-gweaudt ¥ fsgewedt HER
(feBacgs IBw) fow wHs Je
5 ?

1. &9 A9 € Hug

2. TH HST € Hugd

3. I ¢ feus mo=r @ g
4, I < feus yfgre’™ € Aug
(@) 1 M3 2

(b) frge 2

(¢ 1,2 M3 3

d 1,2,3 %3 4

93 fds 39 € Haudt d9d/UHeS

f3an S99 (fis) ¥=9t feg Sfenr

Jfemr & 2

(a) & gafsd w3 feq ed 9 A=
ST gyt

" (b) W3 BT M3 € A I AT

et g

(c) %gm”@%aé?ﬁ
e BET gyet

@ ©H FAEL W3 € 3 Fq AT
St g

3C8, JATfee W3 SFTfBaT

(a)?ﬁ@?ﬁmkﬁmﬁqm
dft I® y@er fes wwm 3
HEASST € 3H I8

®) W Jor @ fesw I
Hefuz el @ 3 I3

) T4 wedflar T yfFg
Aa-AyTeT dnft gigt @ 31 5

d) 2014 T feme ay ¥ TH®
fed Ha=s "iga™ € aH I
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42. In 2002, National Dairy Development | 42. A& 2002 feg Imedt St fegw

Board had standardised package H93 <8 wysagr gi Tg < famu
design of milk for consumers to dt yge st g @ Ufder @ <ar =
identify the type of milk. The colour firdtaas oz famr ot | ST @
identity of milk packets is common for Joer & dar Ug'E, HJ
all milk cooperatives including Verka Afgadh &et, At ot ardt, fam
of Punjab. In this context, identify the feg ¥ag o 9 & 7Hs I |
incorrect pair(s) of the following : fen 995 @ Hogs f%q, Iz Tt
gt fed gmz IFadh &
Colour of Packet Type of Milk ufrgE a5 -
1. Blue —  Double Toned g3z e dar _t?%r & famm
2. Green - Standard 1. 3t - 9IS &3
3. Purple - Skimmed 2. Ta N EEGES
4. Orange - Full Cream 3. ¥HAT -  AUIT/EdH
5. Yellow — Toned Cioy (Wﬁ'HB)
4. H3Ft - Iz
Choose the answer from the following : he
5. M@ = . B
(a) 1,2and3 R -
93 &Y fev 8739 98 .
(¢0 land5 (b) 3 M3 4
(d) Only3 © 1M35
@ fhas 3
43. I3 fofo Haeet fod faodft drg
43. Which of the following institutes 9 A3 I8t Gevar =t a2 it 2
prepares and issues new sugar HUES fammg g9a At sa<t 9 2
standards for the sugar industry every (a) & T Hudst = 505 (fa€3
year 2 e §I9 AISIsH) i
(a) The Bureau of Sugar Standards () 93 ¥ Hy=EsT T (863
. (faB3 we &tz wesasq)
(b) The Bureau of Indian Standards e
| © dedt AHaHE’  YEEaEE
(c) Central AGMARK Laboratory (ﬁga'g naHSS M)
(d) National Institute of Food @ sHes férdifaBe we g3
Processing Jhfiar

SCS-1 (A-17)
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44,

SCS-1

Dr. Sugata Mitra, Chief Scientist at
NIIT, is credited with the discovery of
“Hole-in-the-Wall”.  This
experinient in innovative learning is

famous

formally known as

(a) Closely Supervised Education
(b) Distantly Monitored Education
(¢) Minimally Invasive Education

(d) Non-Monitored Eduecation

Who among the following wrote the
famous poem on Rani of Jhansi with
the popular line “Khoob lari‘mardani
woh to Jhansi wali rani thi??: -

(a) Sumitranandan Pant
(b) Bhawani Prasad Mishra
(¢) Bharatendu Harishchandra

(d) Subhadra Kumari Chauhan

In Islam, offering prayers five times a
day is called

(a) Sawm
(b) Zakat
(¢) Salat

(d) Shahada

45, T fofm fo§ fan <8 sHt <

e & fifn Wt 3 “gw ot

46. fomey fog, fos feg dq =9

(A-18)

You tube: https://youtube.com/@siddhipunjab

4. F. mary fuzer, W wiERes,

et § “Is-fis-T-
5" (fesg-feg-maw) &t &9 =
e fégr ger 3 | fen sdtesardt
faftmr @ yfFg y&ar § Imt
(formal) 39 3 Afew™ dAer J

(@) s us=a faggat =
AT (Closely
Education)

b Tt 3 fsdhe =t frfior
(Distantly Monitored Education)

(© fo€s3v =um =&t fHftmr
(Minimally Invasive Education)

@ fast fafue H fAfunr
(Non-Menitored Education)

Supervised

TR 3 yffo afeT et I

HIe3] @ 3 THT 37 731 & 2
(a) Hﬁﬁ?l"‘c%_t:'??ﬂg

(b) =& yAE fHEaT

(¢) T3¢ JdHued

(d) HET IHE 996

ygEsT d95 § fagr A7er I
(a) HH (Sawm)

(b) I3 (Zakat)

(¢) HSB3 (Salat)

(d) WJET (Shahada)

Telegram: https://t.me/siddhipunjab01
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47, Consider the following statements | 47,
regarding the Right to Fair
Compensation and Transparency in
Land Acquisition, Rehabilitation and
Resettlement Act, 2013 :

1. It is mandatory to carry out
Social Impact Assessment Study
in consultation with the
Panchayat, = Municipality or
Municipal Corporation.

2. The Social Impact Assessment
Study should be completed within
three months from the date of its
commencement.

3. Public hearing to ascertain the
views of affected families for
Social Impact Assessment isf
mandatory.

4. There is no exemption from
undertaking  Social Impact
Assessment Study even when the
land is proposed to be acquired
under urgency clause.

Which of the above mentioned

statements is/are nof correct ?

(a) land3

(b) 2and 4

(¢) Only3

(d) Only4

SCS-1 (A-19)

Sudas Tust fe5 fouz(3) aEs
"t a9 I 2

(@) 173 3

(b) 273 4

(0 fHIe 3

@ fhHae 4
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50.

In an effort to protect
critically-endangered vultures from
being extinct, Bombay Natural History
Society (BNHS) has decided to set up
Vulture Safe Zone (VSZ) in

(a) Bundelkhand, Madhya Pradesh
(b) Krishna, Andhra Pradesh

(c) Ramnagar, Karnataka
(d) Nasik, Maharashtra
51. Crop logging is

(a) a method to assess crop damage.

(b) a method to identify parasitic
weeds associated with a crop.

(¢) a method of keeping record of
progress of crops and crop
analysis for maximizing yield.

(d) a method of cropping more than
one variety of crops.

52. What are the differences between
asteroids and comets ?

1. Asteroids are composed wof rocks
and metals, while comets contain
lot of ice along with rocks and
hydrocarbons.

2. Asteroids are found mostly in
Kuiper belt beyond the orbit of
Neptune and in Oort cloud in
outer Solar System, while comets
are found in the belt between
Mars and Jupiter.

3. The surface of asteroids is solid
and stable, whereas the surface of
comets is very unstable and

~ changeable.

Which of the statements given above

is/are correct 7

(a) land?2

(b) 1land3

(¢) 3only

(d 1,2and3

SCS-1

51.

b2.

(¢) THEID, dd&A

d) &THS, HITHT

S Bfdfar (Crop logging) J
(a) SHS ¥ FARS T MBH'S

@ f&g 3 fovrer fams &t ans
HdS &7 3didT |

MHASIEsH (Asteroids) w3 E'l-lag

(Comets) feg ot »i39 35 2

1.%14??1”8332?6»@@_@8%

(A-21)

I8 J5, 7¢ fa I &g
Jdtggarags It T |

d 1,23 3
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53-

SCS-1

The resistivity of a wire varies with its
(a) Length

(b) Cross-section

(e)
(d)

Mass
Material

A piece of ice is floating in a jar
containing water. When the ice melts,
then the level of water

(a)
(b)
(e)
(d)

Rises
Falls
Remains unchanged

Rises or falls depending upon the
mass of ice

Sound travels with a different speed in
different media. In which order does
the velocity of sound increase in these
media ?

(a)
(b)
(e)
(d)

Water, iron and air
Iron, air and water
Air, water and iron

Iron, water and air

“Beaufort Scale” is used to measure
(a)
(b)
(c)
(d)

Atmospheric pressure
Wind velocity
Humidity

Hydraulic pressure

53.

55.

56.

(A-22)

g ot fafarfefedt (Resistivity) €7
il % gEsdied-gudt
J

(a) gt

(b) IIH-RAHE
(¢) H'3J™ (Mass)
(d) Y¥dH (Material)

ySt @8 g93s feu, & "a9g =
293" 397 I | e g9e fuush I,
3T Y T AT

(a) @“ﬂ*@w%

(b) W= I

(¢) adt gax &t Per

(d) =9€ T H'3TT (mass) ¥ HIES

€5 € unlee 9

gdt 23 oy few Sudt =83
HTis% meg ot § 1 J5 fob

vt few, udt &t 983w faw

o i Fuet 3 2

(a) U, T w3 =T
b FI7, I W Y
(c) UE",M’H%@ZF
@ BT, U w3 T

“fa39e mag” (wer)
HUS Bet Zgfsnm Aier J |

(a) TG-H3S T

(b) T &t FEIT

© G oo

(@) T=oTEs T

Telegram: https://t.me/siddhipunjab01
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57.

SCS-1

: : . |

Match the following : 57.
Type of Colloid Example
A. Gel 1. Paint
B. Emulsion 2. Butter
C. Sol 3. Fog
D. Aerosol 4, Milk
Choose the correct code
A B C D
(a) 2 I'n4 3
(b 1 & W& "8
@ 2 4 = '3
(M 4 8 35 2 58.
Consider the following pairs of metals
and their ores :
Metal Ore
1. Iron —  Siderite
‘2% Copper '~ Calamine
3. Zinc —  Sphalerite
Which of the above mentioned pairs
is/are not correctly matched ?
(a) land?2
(b) Only2
(¢) 2and3
(d) Only3 o
A light and a heavy body have equal
momentum. Which one has greater
kinetic energy ?
(a) The light body
(b) The heavy body
(¢) Both have equal kinetic energy
(d) Data given is incomplete
(A-23)

35 faftmi™ T 4% a9 -

FB1EF (Colloid) Geraas
& 1o TPy
A 8 1. U2/[a5
B. fevmws 2. HYE
Cc. A% 3. de
D. BIHS 4. TU
At 93 v
‘A“B T D
m) 2 1 4.8
TN R o
e 2 4.1 -3
@ 4 3 1 2
J5 fog g3t w3 It T 3T (Ores)
T'F (Metal) Fd1 TF (Ore)
1. & - frsgrdie
2. IJgr ~  a@HEs
3. | faR3 -~  TWeSgEle

Buazz o5 faodt ftmdtmt wft
FH XFE 2

(@) 13 2
b) fAge 2

¢ 23 3
(@ fAge 3

fea gsdt w2 gt afenr e A

AOAESHETT  (Momentum) & |

fegt feg fam fea &t afhrsfua

Qa?l" (Kinetic Energy) fammer J 2

(a) TS FrfemT

(b) T FfemT

(¢ €& € uIHg TIsfHa
Baw I

@ fd3 38 wgg 98

Telegram: https://t.me/siddhipunjab01
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61.

62.

SCS-1

In the binary number system, 111
represents

(a) Three
(b) Four

(e)
(d)

Seven

One hundred and eleven

Which of the following are the primary
lymphoid organs ?

1. Bone marrow

2. Thymus
3. Spleen
4, Tonsils

Choose the correct answer from the
following :

(@) land?2
(b) 2and3
(¢ land3
(d 1,2,3and4

Aflatoxins are produced by which of
the following ?

(a)
(b)
(c)
(d)

Bacterium
Fungus
Algae

Virus

Which of the following natural food
colours is most commonly added in
butter and cheese ?

(a) Annatto
(b) Paprika
()
(d)

Betanin

Pandan

(A-24)

600

61.

62.

63'

¥ wrodt 399 Y&SS  (Binary
Number System) f&9, 111 ot T35
gaer T ?

@ f35

(b) ¥d

() W3

@ fea 7 fapurar

5 fefiprt fod faos wedmElont
(P:rimary) ferenes  (Lymphoid)
»ar IS ?

1. €3 HI (Bone Marrow)

9. gTEHH (Thymus)

3. wAudts (f3st)

4. 2fASH (Tonsils)

Iz o fed At €33 g€ :

1 M3 2

b) 2M3 3

(0 1M3 3

d 1,2,3 M3 4

Iz fofit fed wi@sans
(Aflatoxins) 3= Ue qae J2

(a) ;ﬁag (Bacterium)

®) € Fungus)

(c) TEl (Algae)

(d) feME (Virus)

Iz foft f=5 »y 39 3 W8 3
g fgag F=adt dar vy »3 I
(Cheese) feg utfenm wieT 9 2

(a) WM& (Annatto)

() YIS (Paprika)

(c) #Hief8& (Betanin)

(d) U35 (Pandan)

(a)

Telegram: https://t.me/siddhipunjab01
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. SCS-1

Paa is a 2009 Indian comedy-drama
film directed by R. Balakrishnan in
which Amitabh Bachchan is shown to
suffer with a rare genetic disease of
childhood characterized by dramatic,
premature ageing. What is this type of
disorder called ?

(a)
(b)
(e)

(d)

Conn’s syndrome
Acromegaly
Progeria

Down’s syndrome

In computer terminology, little
text-based faces and objects that help
give the reader a sense of the writer’s
feelings behind the text are known as

(a) Joystick
(b)
(e)
(d)

Emoticon
Emulation

Captcha

Which of the following is not correctly
matched ?

(a) Snivitz : A computer problem

(b) Gigaflops : A measure of
computer

performance

(¢) Gnutella : A challenge-
response test that
determines whether
a user is human or

an automated bot

(d) Favicon : A small website icon

66.

(A-25)

IS
FB-yge (ggr J&) I | few
fanrdt & o afde a5 2

(a) J5d fHSIH (Conn’s syndrome)
(b) MIASTHIBT (Acromegaly)

(¢) Yfad™™ (Progeria)

@ a7 fAsaH

(Down’s syndrome)

&8 ol (Text) »US3 HIT™ W3
g 7 3 ugs ¥

2P

J 2

(@ wWeifeew . dfufed <t
HH AT

(b) Ifereduw . dfuGeg &
FrIIAS =T

@ s
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7. The Department of Currency | 67. wg o, T U ygu fegmr,
Management, RBI receives notes from Sy dhT 979 HET' %z FUTEl q\ﬁp
four currency note printing presses in 3 %2 Fger 3 | weT %z &t

o ey | 3 5 T e
rin resses are Owne e ‘

Iz}ovz:infnt of India and twgare Wﬂh@éﬁmﬁaal
0wnedbytheReserveBank.WTﬁch %feﬁﬁaﬁw%@tﬂﬁm
one of the following is not amongst TFT a I?

these ? (a) RCET)

(a) Salboni (b) HBEI

(b) Mysore (e)

(¢) Dewas (d)

(d) Hyderabad gs. famae Fq e Ao = -

68. The first bank-note issued by Reserve 1938 feg & ufo@" B

Bank of India in January 1938 was

bearing the portrait of which of the fam &t Indtd Ht ?

following ” (a) faGaw VI

(a) George V1 b T

(b) Queen Victoria (e)

(¢ GeorgeV g @ W3=ds VI

(d) Edward VIII

69. Consider the following statements | o o
regarding the High Powered Money : Ur'd.
1. It is the total = liability of

Monetary Authority of India. 2.
9 Tt consists of currency (notes and
coins in circulation with the
public and vault cash of
commercial banks) and deposits
held by the Government of India
and commercial banks with RBL
3. The deposits are not refundable

by RBI on demand from
deposit-holders.

Which of the above statement(s) is/are
correct ?

(a) Onlyl

(b) land?2

(¢ 2and3

(d Only3

SCs-1 (A-26)
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70. Consider the following statements | 70-
regarding  “Managed  Floating”
exchange rate system :

1. It is a mixture of fixed and
flexible exchange rate systems.

2. Itis also called dirty floating.

3. India’s exchange rate policy has
not yet shifted to “managed
floating” exchange rate system. .

4. Under this system, the
Govt/Central banks do not
intervene to buy and sell foreign
currencies in an attempt to
moderate exchange rate
movements.

Which of the above statements is/are

not correct ?

(a) Only2

(b) 1and3

(¢) 2,3and4

(d) 3and4

SCS-1 (A-27)

“Hous eBféar” eeiwgr =9

(Exchange Rate) feerg Flnédl I8

= 0:royl ?;E fegg :

1. feg fagufasm (fixed) M3 foger
(flexible) @22 3 ©r fHRIS
g

Z.ﬁﬁémmﬁm(lﬁﬂy

floating) 2 faar 7T T |

3. ¥93 ot ToEgr =g FFH »m
“ions eB8féar” =oimgr o9
<8 H3AS (shift) aT Tt F |
4. fen fesmg wifls, mAoargaedt
¥4, =etegr =9 < adt-fadt §

d *F'T; é ﬂ }:[T:IET ;._F]‘ H'ag_ ’

feg vym & fde |

Budas FEs’ fed fow3 aws mdt
a7 a5 2

(a) frge 2
® 173 3
() 2,8M3 4

@ 83 4

Telegram: https://t.me/siddhipunjab01
You tube: https://youtube.com/@siddhipunjab
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Goods and Services Tax ( GST ) is the
- next logical step towards
comprehensive indirect tax reforms in
the country. Consider the following
statements with respect to GST :

1. With the introduction of GST, the
burden of Central Sales Tax
(CST) will be removed.

For introduction of GST at State
level, States should be given the
power to levy tax on services.

71. @A3 W3 Wafew 9 (GST) °F fe9
- nrfﬁ’ﬁ‘aaandmecttaz)%f@m
U9 Audt hﬁf&"

g3 (CST) ET w-m I
AT |

awr—uu-aé GsT & HgW3
-""’-% 9




73. Demutualization in the context of | 73.

(a) S‘@e'r'ation of ownership from the
management of the stock

(b) Conversion of a stock exchange
into a non-profit organization

() Unlisting of a blue chip company
from the stock exchange

(d) Awarding trading rights by a
company to a merchant bank

74. Consider the following statements : 4.

1. Forward Markets Commission of
India was earlier overseen by the
Department of Consumer Affairs
under the Ministry of Consumer
Affairs, Food and Publie
Distribution.

2. At present the Forward Markets
Commission is overseen by the
Department of Economics Affairs
under the Ministry of Finance,
Government of India.

3. Forward Markets Commission
regulates the Commodity Futures
and Financial Futures Trading in
the country.

Which of the above statements is/are

correct ?

(a) Only1

(b) Only 2

(¢) land2

(d 1,2and3

Cs-1 (A-29)

g "d9 ¥ Hegs fem
s Tedns (Demutualization) ©T
H3BY I

(a) Aed WIASA o WEdt w3
y¥u feergr &t wisfoesft

(b) WX Waned § fag’ ae <t
A feg ufg=aas gaar

(¢) ACY wamdn fed =8 fu
Fudt § geftaas fed geer

@ Bt =B Hede &3 § =9
95 © M9 Y25 F96T

aafaa'mfe@-a'

1. <I935 HIfgen AHHs wie
HHfen, yaad w3 w83
SIS HITH T YyIIT

foﬂfanﬁﬁmnftﬂsm@?

|

2. Hger ®AH 39298 WIfdenw
IftHEs &3 Haaw, 93
HId'd © nigfgx  HHSH
fegmar witfls T |

3. <J<93 WIfaeH afHEs yTggt
w3 fe3 Adft »Eisdt =y
(futures trading) & fa@H3 Fger
ol

a3 sust fed oo ams wdt

R/ar

(@) fAge 1

(b) frge 2

(© 1M3I 2
(d 1,273 3

Telegram: https://t.me/siddhipunjab01
You tube: https://youtube.com/@siddhipunjab




75. Consider the following statements | 75. SE-UISTIIHIT »HS (Non-

regarding the Non-Performing Asset : Performing Asset) Hadft 35 f&u
It is a loan or an advance where FES ?:3 feu9 :
feg saw #F Umaf (Advance) I fd

1. interest and/or instalment of

principal remain overdue for a

1. fipre =8 399 feu fomw

period of more than 90 days in ECy HE gt & faws
respect of a Term Loan. 90 foa® 3 2y AH = G=g
58 ® (wer ¥ it et

2. the instalment of principal or 52) |

interest thereon remains overdue

for two crop seasons for short 9. =2 FH o wedt T eES
duration crops. Pl s g < f =
fenrm @ eus o fipre 3 <4
period of more than 9¢ days in @E:‘Hf_a’@ = (e & oftt aret
the case of bills “purchased and =) |

discounted. r'd

3. the bill remains overdue.for a

3. uwdle I w3z femaGfes

Which of the above statements is/are (discounted) fast f‘%ﬂ', fas
correct ? 90 foa' 3 =u wi BEt G=afs8
32 (wrefedft & it 9°) |
(a) Only1l
ez fed faud 386 At I35 ?
(b) land3
(a) fAgT 1
(d 1,2and3 (¢ 13 2
d 1,243 3
SCS-1 (A-30)
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76.

77'

SCS-1

Twin deficit basically refers to

(a) Lack of investor confidence and
high fiscal deficit

(b) Lack of positive credit rating and
high fiscal deficit

(e) Situation _of huge outflow of FIIs
and rising fiscal deficit

(d) Situation of large current account
and fiscal deficit

Consider the following liquid assets ¢
1. Demand deposits with the banks
2. Time deposits with the banks

3. Savings deposits with the banks
4. Currency

The correct of their
decreasing order of liquidity is

sequence

(a) 1-4-3-2

(b) 4-3-2-1
(c) 4-1-3-2

(d) 4-3-1-2

76.

717.

( A =31

H3T W (Twin deficit) "H 39 I

Ha3 Jaer J

(a) fo=w T8 =fen ¥ fegem
&g aft w3 firer & wre
(fiscal deficit)

(b) AfeHfez Fdfse I & aft
W3 firer & we (fiscal
deficit)

© e, urdyg = gJ3

fimmer fagam &t mfgdt w3
<ot &3 W2 (fiscal deficit)

@ wfedt fam few 95 By we

(Current Account Deficit) w3
f&ft we (fiscal deficit) qJ3
fammar 32

%%%ﬁaﬁmzﬁﬁﬂm(mﬁ)ﬁ

2. 8 e fimarst my gon
3. Hg feg 593 myff gaw

-

4. HedT

wedt aet € QW feu Wt Iy
e .

—

(a) 1-4-3-2
(b) 4-3-2-1
(¢) 4-1-3-2

(d) 4-3-1-2

Telégram: https://t.me/siddhipunjapo1
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78. Which of the following is/are a part of | 7g,
Capital Account of Balance of
Payments ?

1. Portfolio Investment

2. External Assistance

3. NRI Deposits

Choose the correct answer from the
following :

(a) land2

(b) 1,2and3

(¢) Only1l

(d) Only3

79. Where is the Stock Exchange located "o,

in Punjab ?
(a) Jalandhar
(b) Patiala
(¢) Amritsar
(d) None of the above
80. Match the following : Bﬁ
Authors Writings
A. Minhaj al-Siraj 1. Malfuzat-i-
Juzjani Timuri
B. Ziauddin Barani 2. Fatwa-i-
Jahandari
C. Isami 3. Tabaqat-i-
Nasiri
D. Amir Timur 4. Futuh-us
Salatin
Choose the correct code :
A-B ©C D
G2 X ST
B 1 2S
(o) g T
4 100 SIEEE . TR B |
SCS-1 (A-32)

Iz fefid™ T 1S 49 :
By CERICL
A. fHaaw WS- 1. HBeH3-
fra FaTat B-faydt
B. famGfes 2. TIT-B-
gI& Fdedt
c. femmt 3. 3gE3-
T-5THI
D. »iftg faug 4. 33T-OW
S35
7t 93 9
A BCD
@ 2 1. 844
® 1 2'8°%
i @ iga A
@ 4 3 2+

You tube: https://youtube.com/@siddhipunjab

Iz fofimr fod faoa/fags 985

H3ss (88W we Ufie) 2 Yl

Y3 = fIAT 05 ?

1. UdcefsG fesw

2. gIdt AofE3HEE

3. Fo-foofedt gadmt & my
}jﬂcf(NRIdeposits)

Iz fofimt fod wdft €739 8¢ :

(2) 13 2

®) 1,2 M3 3

(¢ fHIE 1

(@ fHge 3

(a) TSUG
(b) Ufenrsr

O RRZILELE]
@ Sudaz fed &t & &

Telegram: https://t.me/siddhipunjab01



81.

82.

Mansur, the court painter of Jahangir,
was most famous for painting which of
(a) Historical monuments

(b) Human portraits

(c) Landscapes

(d) Plants, birds and animals

There were five major political centres
in the Mauryan Empire including the
capital Pataliputra and four provincial
centres. Which one of the following is
not amongst these provincial centres ?

(a) Kaushambi

(b) Ujjayini

(¢) Tosali

(d) Suvarnagiri

Consider the following statements :

1. Prabhavati Gupta was the
2 da‘llghter of one of the most
- important rulers in early Indian
; ory, Chandragupta I.

as married into the ruling

(A-33)

8l. #UWMT T W JIHH HEHT, IS

fofinr fog fam f93gadt &t A9
3 fmrer yfiig #t 2

(@) fefsofrs wrearg

(b) HEHT IFrTT

(0 F-fom fo39

@ U<, fodhrt %3 a9

HfeW™ (Mauryan) WS353 fou
IHUST UeBlkyss wWF 99 Yifsa
dedt § fuzr F I3 Um Wy
TJHa3g deg " | I fafiort
fed faoar feg yifaw d9 feg' feu
adt Ht 2
(a) St
(p)@-ﬁ?ﬁ

(0 1M3 26
(@ 173 2 fed 3t &t &t

: Telegram: https://t.me/siddhipunjab01
You tube: https://youtube.com/@siddhipunjab



mother).

In Satavahana rulers, the

2.
sion 1o the throne was

succes
generally patri]ineal.

Which of the above mentioned

statements ja/are correct 2

(a) Onlyl
(b) Only 2
(¢) Both 1and 2

(d) Neither 1 nor 2

85, According to Buddhist texts, who was
the first woman to enter Sangha and
ordained as “phikkhuni” ?

(a) Mahamaya Mayadevi
(b) Mahapajapati Gotami

(e) Mahadevi Yashodhara

(d) Shailbhanjika Anandi

(A-34)

Tele : h
You tube: gra.m. https.//t.me/siddhiii‘i"ilil
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86.  Match the following : 86. aafsr‘unﬁ'evﬂa‘?ﬂaaé‘:
Fu'ergn Travellers Country of 1eeH} UEC/Y _‘?E
s 2 :

Sl A nEEHt fsfafss 1. figras
A. Afanasii Nikitich 1. England fafafas
Nikitin
B. 393 g 2. g§
B. Duarte Barbosa 2. Russia Z
C. Yizg st 3. YI3ars
C. Peter Mundy 3. Portugal
D. %3G and= 4. AU
D. Antonio Monserrate 4. Spain
Adt 33 g
C‘hoosetheoomctcode:
A'B C b
A B ¢ »p Wl 2 3 g9 g4
@ 2 1 e NSNS 4 0B
© 3 4 2 1

(RS R
@ 2Ny hl g

87. Emperor Akbar classified the lands in Ht | fer Hogs fog I3 fofir fog
various categories and fixed different faa=t Iz T & Uﬁ@"ﬂ" 5,

Teévenue to be paid by each. In this

context, examine which of the
following defines Pola; Janq 2 @ Pt o FS B fodag 79
GOR S ft At § o3 gt &
a an whi is annually v &
cultivated for each crop i T wiHhft w4t wict
Succession and is never allowed to .
lie fallow, (b) Wﬁiﬂiﬂwwmﬂ‘
At gt U
(b) Land left out of cultivation for g - et
time that it may recover its Y39 Y3 39 7Y |
< © gt % 7T 3 M5 7 g9 v
(¢) Land that hag lain fallow for ot =
three or four years, s st 32 |
() Land uncultivated for five years @ 2 7 47 7ot § figupren
and more. I eIt 32
SCs-1 (A-35)
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88. The Disorders Inquiry Committee

89.

SCS-1

(1919 — 1920) headed by Lord Hunter
was constituted to investigate the
disturbances in Bombay, Delhi and
Punjab, their causes and measures

taken to cope with them.

Which of the following were not
member(s) of the Committee ?

1. Justice G.C. Rankin

9. Chimanlal Harilal Setalvad

3. Pt. Jagat Narayan

4. Sultan Shamsher Beig

5. W.F. Rice

Choose the answer from the following :
(a) 2and3

(b) 3and4

(c) Only4

(d) Only5

Arrange the following in a
chronological order :

1. Wavell Plan

2. Poona Pact

3. Gandhi Irwin Pact
4. Individual Satyagraha
5. Communal Award
Choose the correct code :
(a) 3,5,2,4,1

(®) 5,3,2,4,1

© 3,2,5,4,1

(d 2,538,1,4

gs. B35 Jeg &t yuaet Iz, #9, L

89.

(A-36)

w3 Gy fey 3@ Sfam @ F9E
& z=-ic 395 w3 8§ § &fWee
féaurdt IRt (1919 - 1920) T TS5
#tzr fanur Ht |

5 fofimit fed faazn(Y) B A
2 fiwg & Hms ? :
1. wwfen +#.#H. 35fas
forss® I9TS ASEE
{53 I8 BaTTee

It fou fag €39 9 ¢

(a) 2 M3 3

® 332 4

(¢ THIE 4

W@ frAge 5

Js fefimr § ae-gH € 3T
(Chronological order) feg a9 :

o W

1. B USBS

2. Y& HHIES'

3. ardt-feafes AT

4, fewadta3  (Individual)
I ELE )

5. Tuysefed MEES (Communal
Award)

Adt 93 92 -

(a) 3,5,2,4,1
b 5,3,2,4,1
() 3,2,5,4,1
d 2,5,3,1,4

Telegram: https://t.me/siddhipunjab01
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ml

91.

SCS-1

“New Lamps for Old”, a series of
articles criticising moderate politics,
was authored by

(a) Bal Gangadhar Tilak

(b) Chittaranjan Das

(¢) Bipin Chandra Pal

(d) Aurobindo Ghosh

During World War II, which of the
following countries was invaded by
Germany under the

“Operation Barbarossa” ?

code name,

(a) Great Britain
(b) Soviet Union
(¢) France

(d) USA.

In 1942, Battle of Midway was fought
between the naval forces of which of
the following belligerent nations ?

(a) Germany and France
(b) Germany and Great Britain
(¢) Japan and U.S.A.

(d) Japan and Soviet Union

m.

91.

(A-37)

“fs€ Bur T GB3” Byt & =,
fm fes Gewedt gwdidt
wdgs At et 3, faw & gus
H 2

(a) ¥ darug f3ux
(b) 93375 =W
(0 Tafus de3 us
(@ »igfde e

faog o €3 7ovdt <8 “»ydws
TIEIHT 93 &'H 3fa3 IHST 3T
famim Ht 2

(@) o0 g5
Wy RT3 giens
(c) SIH

@) GH.E.

1942 feu, fizonm & st fao3
B39 en ¥ #8-Aee fegdw
Bt aret H 2

(a) WIHAT »3 SIH

(b) HIHAT 3 dI9C fges
(€ AUS W3 AL,

d) FUS »I Afen3 gamis

Telegram: https://t.me/siddhipunjab01
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93.

SCS-1

Consider the following statements
regarding River Beas:

1. River Beas originates from
Borasu Pass in Kinnaur district,
Himachal Pradesh.

2. Pandoh reservoir and Pong
reservoir are built over this river.

3. It joins river Satluyj at

Hari-ke-Pattan.

Which of the above mentioned
statements is/are not correct ?

(a) Onmnlyl
(b) land 2
(¢) Onmly3

(d 1and3

Match the following :

Rivers Ancient Name

Beas . Askini

Ravi . Vipasa

Parushni/Airavati

o ow P

;
2
Chenab 3.
4

Jhelum . Vitasta

Choose the correct code :
A B D
(a)
(b)
(c)

C

1.8

1

1

(d) 1

N e N e

2
3 4
2 |8
4 W3

94.

(A-38)

&t YI3E 3H
A. T 1. WAfIAT
B. I 2. feymr
C. 95" 3. ugHal/fea=dt
D. fag®H 4, fesmzr
Fl?ﬂa_a'@:

A B C. D
a) 2 1. 3.4
&) 3 4 1.2
7o R S
@4 '8 12
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95.

SCS-1

Which of the following pairs is/are not
matched correctly ?

Name of Wildlife Location
Sanctuary
1. Jhajjar-Bachauli - Rupnagar

9. Kathlaur Kushlian — Sangrur

3. Bir Aishwan — Hoshiarpur

4. Bir Dosanjh — Patiala

Choose the answer from the following :

(a) land?2

(b) 2and3

(¢) 2and 4

(d) 1and3

The battle of Balakot was fought in
1831 A.D. between the forces of

(a) East India Company and the
Afghans
(b) Bast India Company and the

Marathas

(¢) Maharaja Ranjit Singh and the
Marathas

(d) Maharaja Ranjit Singh and Syed

Ahmad Barelvi

96.

(A-239)

aft I5?

Hars? e &f 4l HTE
Adgdl € 3H

1. SHe-u9S - JUEIE

(b)
© 2 W3 4

@ 1333

1831 2.5, feu gwae & s=€

faaefert S fSgara ot aret Hf 2

(@) Y9t ITI AUBl (East India
Company) MI WIS

) yadt 93 JUS (Bast India
Company) I HITS'

() HITH I3 W w3 Has'

@ woaw FeAs fiw 3 wAfee
WIHE HIB<
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SCS-1

97. Match the following :

Assembly District
constituency

A. Nihal Singhwala 1. Hoshiarpur

B. Shutrana

C. Chabbewal

D. Dirba

2. Sangrur
3. Gurdaspur
4. Patiala
5. Moga
Choose the correct code

A cC D
(a) 3
(b) 5
() 3
(d 5

e g R RO S

s -0
Sl
T 2
4. -2

Consider the following statenigni‘a :

1. HMEL is developing Talwandi
Sabo Thermal Power Plant.

9. L&T Power Development Limited
is developing Rajpura Thermal
Power Plant.

3. Fuel supply for Rajpura Thermal
Power Plant will be given by
Mahanadi  Coalfields Limited
(MCL), whereas for Talwandi
Sabo Thermal Power Plant, it
will be given by South Eastern
Coalfields Limited (SECL).

Which of the above mentioned

statements is/are correct ?
(@) 1land 2

(b) 2and3

(¢) Only3

(d) Only2

fegd AgT

gE-IBA"
A foos fluesr 1. IfrIud
B. H3T&' 9. HIgS
C. B8 3. JEEHYT
p. fsaw 4. Uferd&™

5. Har

w7t &3 9

ABCD
@ 3 2 1 5
) &5 4 1 2
(o83 4. 1 2
dy 5 1 4 2

(k) 23 3
(e) fAge 3
(d) AT 2

(A-40)
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99. Arrange the following places of Punjab | 99.
with respect to their location from

South to North :

1. Maur

2. Qadian

8. Sardulgarh

4. Nihal Singhwala

5. Kanjli

Choose the correct code :

(a) 38,1,4,5,2
(b) 1,3,4,2,5
(00 3,1,4,2,5
(d 38,4,1,5,2

100. On the basis of Census 2011, arrange | 100.

the following districts of Punjab with
respect to their population in the

increasing order :
1. Rupnagar
2. Faridkot
| 3. ‘Muktsar _
4. Mansa

Choose the correct code :
l (a) 1,2,4,3

(b) 2,1,4,3

© 21,384

d 1,3,2,4

SCS-1 (A-41)

2 €39 few wgHwe sodfly feg
a9 :

1. W

2. gt

3. HIgSIF

4. feoz fiwes
5. eIt

At 33 98

(a) 3,1,4,5,2

(b) 1,3,4,2,5

© 3,1.4,2,5

(d 3,4,1,5,2

2011 F5-3IH" € U9 3, YAy ¥

H3™Ha 393ty few 9 .
1. gusdi9

2. ediede

3. HA3WT

4. HEHT
At a3 TE -

(a) 1,2,4,3
(b) 2,1,4,3
() 2,1,8,4
d 1,3,24
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